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[k.M% ^d* Section A
vifBrka'kkocks/kue~

Reading -Comprehension

1- v/kksfyf[krx|ka'ka ifBRok iz'ukuke~ mÙkjkf.k fy[kr
fuEufyf[kr x|ka'k dks i<+dj iz'uksa ds mÙkj fyf[k,A
Read the following passage and answer the questions.

,dnk egkRekxkaf/k% ys[kudk;sZ O;Lr% vklhr~A ys[kU;ka elh lekIrk tkrkA l% rka ys[kuha r=So
LFkkif;Rok vU;= xroku~A iqu% vkxR; ys[kuhe~ vi';r~A ik'osZ fLFkr% vkJeoklh vonr~&ckiw!
rL;ka elh u vklhr~ vr% e;k ys[kuh cfg% izf{kIrkA egkRekxkfU/k% vonr~&fdefi oLrq {kqnza
ewY;jfgra u HkofrA fde~ vLekda ns'k% rkn`'ka /kuL; viO;;a drq± 'kDuksfr\ uSoA xPNrq Hkoku~
rke~ ,o ys[kuhe~ vku;rqA rL;keso elha iwjf;Rok dk;± dfj";kfe bfrA

;fn o;a losZ vfi ns'kL; /kufo"k;s rFkk tkx:dk% Hkoke% rfgZ ns'kL; nkfjnz~;e~ vfpjknso nwjh&
Hkosr~A vLekde~ vko';drkuqlkjeso vLekda lehis /kua] oL=kf.k vU;kfu p oLrwfu Hkos;q% ,"k
,o ;ksxL; izeq[kk% fu;e%A

iz'uk%
I- ,dinsu mÙkjr

,d in esa mÙkj nhft,A
Answer in one word only. ½ × 4 = 2

(i) vLekda ns'k% dL; viO;;a drq± u 'kDuksfr\

(ii) d% egkReu% ik'osZ fLFkr%\

(iii) ys[kU;ka dk lekIrk tkrk\

(iv) elhjfgrka ys[kuhe~ vkJeoklh dq= vf{kir~\

II- iw.kZokD;su mÙkjr
laLd`r ds iw.kZokD; esa mÙkj nhft,A
Answer in one sentence. 1 × 2 = 2

(i) ;ksxL; izeq[k% fu;e% d%\

(ii) vkJeokfluk egkReu% ys[kuh fdeFk± f{kIrk\
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III- funsZ'kkuqlkja iz'uku~ mÙkjr

funsZ'k ds vuqlkj iz'uksa ds mÙkj nsaA
Do as directed 1× 4 = 4

(i) ^^fdefi oLrq {kqnza ewY;jfgra u Hkofr**bR;fLeu~ okD;ka'ks ^^{kqnze~**bfr ina dL;
fo'ks"k.ke~\ 1

(ii) ^^xPNrq Hkoku~ ] rke~ ,o vku;rq** bR;fLeu~ okD;s ^^vku;rq** bfr fØ;kinL;
drkZ d%\ 1

(iii) ^^vUr%** bfr inL; d% foykse% v= iz;qDr%\ 1

(iv) ^^'kh?kzeso** bR;L; d% i;kZ;% v= iz;qDr%\ 1

IV- vL; x|ka'kL; leqfpra 'kh"kZda fy[krA 2
bl x|ka'k ds fy, leqfpr 'kh"kZd fyf[k,A
Please give a suitable title to this paragraph.

 [k.M% ^[k*
Section B

laLd`rsu jpukReda dk;Ze~
Writing Skill in Sanskrit

2- dkuiqjfuoklh vkyksd% dksydkrkfuokflue~ viwoZukekue~ Lofe=e~ ,da i=e~vfy[kr~A
oLrqr% vkyksd% ,dL;ka lkekU;Kkuizfr;ksfxrk;ka izfrHkkfxrke~ vdjksr~] ;su rL;
O;fDrRos vrho ifjorZua tkre~A vfLeu~ i=s e × tw"kkr% mfprinS% fjDrLFkkukfu
iwjf;Rok i=a iqu%fy[krA

dkuiqj fuoklh vkyksd us dksydkrk fuoklh viwoZ uked vius fe= dks ,d i=
fy[kkA oLrqr% vkyksd us ,d lkekU;Kku izfr;ksfxrk esa Hkkx fy;k Fkk ftlls
mlds O;fDrRo esa cgqr ifjorZu gqvkA mlds }kjk fy[ks i= esa e × tw"kk esa fn, inksa
esa ls mfpr in ys dj [kkyh LFkku Hkjrs gq, i= dks iqu% mÙkj iqfLrdk esa fyf[k,A

Aloka, a resident of Kanpur, wrote a letter to his friend Apoorva, living in Calcutta
Actually Aloka had just participated in a ''General Knowlege Quiz Competition', which
brought about remarkable change in his personality. File in the blanks in the following
letter and rewrite it in your answer sheet (select the words from the box.)

15
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fiz; &&&&&&(ii) &&&&&&&&(i)

frfFk% &&&&&&&&

lizse ueLrsA

v= dq'kya r=kLrqA vk'kkls ;fnea lekpkja izkI; Hkoku~ izlUuks Hkfo";fr ;r~ vLekda uxjs

vk;ksftrk;ke~ vUrfoZ|ky;lkekU;Kkuizfr;ksfxrk;ka e;k fo|ky;L; &&&&&&&&&&&&&&&

(iii)  d`re~] izFkeiqjLdkj% p ftr%A b;a izfr;ksfxrk vLekde~ ,o fo|ky;s lek;ksftrkA vL;ke~

uxjL; fofo/kfo|ky;sH;% f=a'kr~ izfrHkkfxu% vkxPNu~A vL;S izfr;ksfxrk;S vga iwoZeso fofo/kiqLrdkuke~

v/;;ue~&&&&&&&(iv) A

vL;ka izfr;ksfxrk;ka e;k iqjLdkj% ,o u ftr% Lofo|ky;L; fi=ks'p xkSjoeso u &&&&&&&

(v)  vfirq vU;s vuqHkok% vfi egÙoiw.kkZ% vklu~ ;Fkkfg vU;lgHkkfxfHk% lg laHkk"k.ka] e× pl× pkyua]

izLrqrhdj.k× pA vfi p ifjJe&vkRefo'okl&lg;ksxknhuka xq.kkuka &&&&&&& (vi)  ee O;fDrRos fi

&&& &&&&&(vii) ifjorZua tkre~A

ee vuqjks/k% vfLr ;r~ Hkokufi &&&&&&& (viii)  izfr;ksfxrklq izfrHkkxh HkorqA losZH;%

;Fkk;ksX;e~ vfHkoknue~A

Hkonh;% lqân~

---------------(ix)os"Vue~

Jheku~ viwoZ ?kks"k%

52 ckyhx × t%] dksydkrk

&&&&&&& (x)

e × tw"kk

fodklsu] of/kZre~] vHkwriwoZe~] viwoZ! dkuiqjr% vdjoe~] vkyksd%]

if'pecaxkyizns'k%]  ,rkn`'khlq] izfrfuf/kRoe~

3- iznÙklwphlkgk¸;su v/kksnÙkka dFkka iwjf;Rok mÙkjiqfLrdk;ka iqu% fy[krA
½ ×10= 5

e× tw"kk esa fn, x, 'kCnksa dh lgk;rk ls fuEufyf[kr y?kqdFkk dks Hkj dj mÙkj
iqfLrdk esa iqu% fyf[k,A

Please fill in the blanks in the following story and rewrite it in your answer sheet  with
the help of words given in the box.
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cnZoku&jsy;ku&foJkeLFkys dnkfpr~ jk=kS@vkÄ~Xyifj/kkufoHkwf"kr% df'pr~ Hknziq#"k%
___________ (i) vokjksgr~A rL; ik'osZ ,dk isfVdk vklhr~ ;ka okgf;rqa l% ___________ (ii)
i';u~ mokp  ̂ ^Hkkjokgd! Hkkjokgd!** bfrA rRdkyeso ,d% ___________ (iii)  tu% r=kxr%
ra pki`PNr~ ^^ Hkoku~ fde~ bPNfr**\ bfr! lks·onr~ ^beka isfVdka ___________ (iv) e;k lg
vkxPNA** l ,oeso vdjksr~A ;nk rkS ___________ (v)  cfgjkxrkS rnk isfVdkLokeh rLeS
dfrfpr~ eqnzk% v;PNr~ ija l% vLohd`roku~A ^^rfgZ dfr eqnzk% ok × Nfl** bfr i`"V% Hkkjokgd%
xHkhjLojs.k vonr~ /kua rq u b"Va e;k ija ,d% ___________ (vi) orZrs ;r~ v|izHk`fr%
___________ (vii)  Hkosr~ Hkoku~A LoHkkja Lo;eso ogus yfTtr% u Hkorq bfrA ^^ HkkjokgdL;
___________ (viii)  JqRok fofLer% Hknziq#"k% ;konso lehis nhiizdk'ks l/;kua i';fr] rkonso
ra ___________ (ix) rL; pj.k;ks% irfrA oLrqr% l Hkkjokgdks u df'pnU;% ija fo[;krukek
Jh bZ'ojpUnz% fo|klkxj% ,o vklhr~ ;L; ___________(x) ,o l nwjkr~ r= vkxr% vklhr~A

e×tw"kk

vuqjks/k%] xq#xEHkhjLoja] jsy;kukr~] oks<~ok] ifjph;] lk/kkj.koL=;qDr%]
brLrr% n'kZukFk±e~] LokoyEch] foJkeLFkykr~

4- v/kksfyf[krs"kq ,da fo"k;e~ vf/kd`R; i×pokD;fere~ ,de~ vuqPNsna laLd`rsu fy[krA

fdlh ,d fo"k; ij ikap okD;ksa dk laLd`r esa ,d vuqPNsn fyf[k,A

Write a passage of five sentences in Sanskrit on any one of the following topics.
  1× 5 =5

(i) ee fo|ky;L; ØhMkÄõ.ke~A

(ii) fØdsV & ØhMk e;k ǹ"VkA

(iii) nhikofy & esyde~A
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[k.M% ^x*  Section C
vuqiz;qDrO;kdj.ke~

vuqiz;qDr O;kdj.k

Applied Grammar
5- v/kksfyf[krs"kq okD;s"kq LFkwyk{kjinkuka lfU/kfoPNsna dq#r

uhps fy[ks okD;ksa esa LFkwyk{kjinksa esa lfU/kfoPNsn dhft,A

Disjoin Sandhis in the bold-typed words in the following sentences 1 × 6 =6

(i) bna ysg ¼bR;fHk/kkusu½ izfl)a i;ZVuLFkye~A

(ii) ¼dfLeaf'pr~½ tyk'k;s =;ks eRL;k% izfrolfUr LeA

(iii) ,rn~nsoL; 'kklue~A

(iv) ¼,"k ,o½ vÄhõdjksfr mÙkja nf{k.ka pk;ue~A

(v) ¼f}rh;HkkxLl×pkjks½ tyL;kUrcZfg% Øekr~A

(vi) ¼fueTtrhUnks%½ fdj.ksf"ookÄï%A

6- v/ksfyf[krs"kq okD;s"kq LFkwyk{kjinkuka foxzgk% ys[kuh;k%A 1 × 6 =6

fuEufyf[kr okD;ksa esa eksVs v{kjksa esa Nis inksa dk foxzg dhft,A

Disjoin Compounds in the bold- lettered words in the following sentences.

(i) fu#)ps"VL; es cU/kufeo jkT;e~A

(ii) u fu"iz;kstua izHkqfHk% vkgw;Urs vf/kdkfj.k%A

(iii) nSogra lqjf{kre~ vfi u';frA

(iv) Hkxoku~ ejhfpekyh czãk.MHkk.ML; nhid%A

(v) lw;Z ,o vgksjk=a tu;frA

(vi) tyk'k;s eRL;=;a izfrolfrA

7- fuEufyf[krs"kq okD;s"kq dks"BdkUrxZrizd`frizR;;a p ;kstf;Rok fjDrLFkkukfu iwj;rA

uhps fy[ks gq, okD;ksa esa dks"Bd ds vu~rxZr izd`fr ds lkFk fufnZ"V izR;; dks tksM+
dj [kkyh LFkku Hkfj,A

Rewrite  the following sentences by adding suffixes to  the roots and words given in
the brackets. 1 × 8  = 8

30
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(i) pk.kD;su dkSeqnhegksRlo% ¼izfr$fl/k~$Dr ½A

(ii) eRL;iw.kZtyk'k;a n`"V~ok eRL;thfou% ¼op~$Drorq ½A

(iii) losZ Nk=k% iz{ksidek/;esu ;k=ko`Ùka &&&&& mRlqdk% vHkou~ ¼n`'k~ $ rqequ~ ½

(iv) loZlEin% ijLijkuqdwys"kq u`ieaf="kq&&&&dqoZfUrA ¼je~ $ fDru~ ½

(v) pk#nÙk% ;FkkfoHkoa x`gnSorku~ &&&&& vkxPNfrA ¼vpZ~ $ 'kr`½

(vi) &&&&&&&& ejhfpekfyu% izdk'k% v#.k% orZrsA ¼Hkx $ erqi~ ½

(vii) ;ksX;k% tuk% ek;kfo"kq &&&&& HkofUrA  ¼ek;k $ bfu½

(viii) &&&&&&&& ;|fLr fda ikrdS% ¼fi'kqu $ ry~ ½

8- v/kksfyf[krs"kq okD;s"kq drZ`fØ;kin;ks% vfUofr% fØ;rke~A

v/kksfyf[kr okD;ksa esa drkZ vkSj fØ;k dh vfUofr djsaA

Please write the suitable verb according to the subject or vice versa
in the following sentences. ( 1 × 5 =5)

(i) yn~nk[kL; izkd`frdLFkykuka fo"k;s·fi Hkorh fdf×pr~&&&&&A ¼czohrq@czwfg½

(ii) &&&&&foeku'kkL=s f=iqjfoekuL; o.kZua Jzw;rke~A ¼;w;e~] ;q"ekfHk%½

(iii) 'o% izHkkrs eRL;thfou% v= &&&& ¼vkxPNu~] vkxfe";fUr½

(iv) rfgZ mikyC/kqa o;e~ v= &&&&&&&&A ¼vkgwrk%] vkgwroUr%½

(v) duda prqfHkZ% izfØ;kfHk%&&&&&&&&A ¼ijh{krs] ijh{;rs½

vFkok
v/kksnÙks"kq okD;s"kq e×tw"kkr% fpRok fo'ks";inS% lg fo'ks"k.kinkfu ;kst;rA
v/kksfyf[kr okD;ksa esa fo'ks"k.k in e×tw"kk ls NkaV dj fo'ks"; inksa ds lkFk tksM+saA
Match the adjectives with nouns in the following sentences. (The adjective words
have been given in the box)

(i) pUnzxqIr% &&&&&& dqlqeiqja nz"VqfePNfr LeA

(ii) eRL;thfou% &&&&&&& lj% vi';u~A

(iii) 'khrs _rkS yn~nk[kizns'ks &&&&&& fgejkf'k% fuirfrA

(iv) &&&&&&& iknik% fuirfUrA

(v) 'kkfyuh HkkjrL; &&&&&& lqJqrL; fo"k;s lHkk;ke~ vHkk"krA

e×tw"kk

egku~] vfrje.kh;a] lqc)ewyk%] izeq[kfpfdRldL;] cgqeRL;a
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9- v/kksfyf[krs"kq okD;s"kq dks"BdkUrxZr'kCns"kq miinfoHkfDra iz;qT;
fjDrLFkkuiwfrZ% fØ;rke~A

uhps fy[ks gq, okD;ksa esa dks"Bd esa fn, x, 'kCnksa ds lkFk miin
foHkfDr dk iz;ksx djds [kkyh LFkku Hkfj,A

Please fill in the blanks after using suitable ëëUpapada-vibhaktisíí  with the
words given in the brackets in the following sentences. 1 × 5  =5

(i) tuk% &&&&&& izfr HkfDrHkkoa n'kZ;fUr ¼cq)½

(ii) eRL;thfofHk% rRlj% &&&&&&&&&&& lg fueZRL;rka uhr%A ¼;n~Hkfo";½

(iii) u &&&&&&&& vUrjk pk.kD;% LoIus·fi ps"VrsA ¼iz;kstu½

(iv) LoHkkokn~ ,o &&&&&&& mRlok% jkspUrsA ¼ekuo½

(v) vi;'k% ;fn thous] fda &&&&&&&A ¼èR;q½

[k.M% ^?k* Section D
Hkkx% ¼1½ (Part -1)
ifBrka'k&vocks/kue~

(Text - Book Comprehension)

10- v/kksfyf[kra x|ka'ka ifBRok iz'uku~ mÙkjrA
uhps fy[ks x|ka'k dks i<+dj iz'uksa ds mÙkj nsaA
Answer the questions after reading the following prose passages. (5)

o;a orZekudkys l³~x.kdL; iz;ksxa dqeZ%A ijUrq ;fn vk;ZHkVsu 'kwU;L; vkfo"dkj%
u d`r% L;kr~ rfgZ l³~x.kdHkk"kk;k% tUe ,o u vHkfo";r~] ;r% r= rq ,da 'kwU;×p
}s ,o la[;s egÙoiw.ksZA vfi p] lw;± izfr iwokZfHkeq[kk i`fFkoh 365-25 okja izfro"kZ
HkzefrA vk/kqfudS% oSKkfudSjfi rFkSo eU;rsA vfi p ;Fkk ukSdk;ka fLFkr% euq";%
o`{kknhu~ i`"Ba izfr xPNr% i';fr] rFkSo u{k=kn;% Hkwe/;js[kkfLFkrL; ujL; d`rs
if'pea izfr /kkoUr% izrh;UrsA

I- ,dinsu mÙkjr ½ × 2 =1

,d 'kCn esa mÙkj nsaA
Answer in one word.

(i) i`fFkoh dfrokja izfro"k± Hkzefr\

(ii) orZekudkys o;a dL; iz;ksxa dqeZ%\

35
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II- iw.kZokD;su mÙkjrA 1 × 1 =1

iwjs okD; esa mÙkj nhft.A

Answer in a complete sentence.

(i) Hkwe/;js[kkfLFkrL; ujL; d`rs fda izrh;rs\

III- funsZ'kkuqlkja iz'uku~ mÙkjr ½ × 2 =1

funsZ'kkuqlkj iz'uksa ds mÙkj nhft,A

Do as directed

(i) ^^iwokZfHkeq[kk bfr ina dL; fo'ks"k.ke~\

(ii) ^^izkphuS%** bfr inL; d% foykse% v= iz;qDr%\

(iii) ^rfgZ lax.kdHkk"kk;k% tUe ,o u vHkfo";r~*** bR;= ^^vHkfo";r~** bfr fØ;kinL;
drkZ d%\

(iv) ^^xzgkn;** bfr inL; d% i;kZ;% v= iz;qDr%\

11. v/kksfyf[kra ukV~;ka'ka ifBRok iz'uku~ mÙkjrA 1+ 1=2

uhps fy[ks ukV~;ka'k dks i<+dj mÙkj nhft,A
Answer the questions after reading the following Drama passage.

¼ukV~;ka'k%½

¼usiF;s oSrkfydkS dkO;ikBa dq#r%½ (5)

jktk vk;Z oSghujs! vkH;ka oSrkfydkH;ka lqo.kZ'krlglza nki;A

pk.kD;% ¼lØks/ka½ oSghujs! fr"B fr"B ! u xUrO;e~A fdeLFkkus egku~ iztk/kukiO;;%\

jktk ¼lØks/ka½ vk;sZ.k ,oa loZ= fu#)ps"VL; es cU/kufeo jkT;a] u jkT;feoA

pk.kD;% o`"ky! Lo;e~ vufHk;qDrkuka jkKke~ ,rs nks"kk% lEHkofUrA

jktk ;|soa rfgZ dkSeqnhegksRloL; izfr"ks/kL; rkor~ iz;kstua JksrqfePNkfeA

pk.kD;% dkSeqnhegksRloL; vk;kstuL; iz;kstua KkrqfePNkfeA

jktk izFkea ee vkKk;k% ikyue~A

pk.kD;% izFkea eekfi ro vkKk;k% mYya?kuesoA vFk vijefi iz;kstua JksrqfePNfl]
rnfi dFk;kfeA

jktk dF;rke~A

I- ,dinsu mÙkjr ½ × 2 =1

,d 'kCn esa mÙkj nhft,A

Answer in one word.
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(i) dkSeqnhegksRlo% dsu izfrf"k)%\

(ii) oSrkfydkS dq= dkO;ikBa dq#r%\

II. iw.kZokD;su mÙkjr 1×1 =1

iwjs okD; esa mÙkj nhft,A

Answer in one Sentence.

pk.kD;L; ers oSrkfydkH;ka 'krlglzlqo.kZL; nkua fde~ vfLr\

III. funsZ'kkuqlkja mÙkjr ½ +½+1+1=3

funsZ'k ds vuqlkj mÙkj nhft,A

Do as directed

(i) ^^izFke ee vkKk;k% ikyue~** bR;= ^^ee** bfr loZZukeina dLeS iz;qDre~\

(ii) ^^O;;%** bR;L; inL; d% foykse% v= iz;qDr%\

(iii) ^^;|soa -------------------  Jksrqe~ bPNkfe** bR;=  ^^bPNkfe** bfr fØ;kinL; drkZ d%\

(iv) ^^frjLdj.ka** bfr inL; d% i;kZ;% v= iz;qDr%\

12- v/kksfyf[kra i|ka'ka ifBRok iz'uku~ mÙkjrA 1+ 1=2

uhps fy[ks i|ka'k dks i<+dj mÙkj nhft,A

Answer the questions after reading the following poetry passage.

Hkkx=;a HkosnL; f=iqjL; ;FkkØee~A
rs"kq izFkeHkkxL; l×pkj% i`fFkohrys]
f}rh;HkkxLl×pkjks tyL;kUrcZfg% Øekr~A
r`rh;HkkxLl×pkjLRoUrfj{ks Hkosr~ Lor%AA

I. ,dinsu mÙkjr ½ × 2 =1

,d in esa mÙkj nhft,A

Answer in one word.

(i) izFkeHkkxL; l×pkj% dq= L;kr~\

(ii) v= dL; o.kZua d̀re~\
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II. iw.kZokD;su mÙkjrA 1 × 1 =1

iwjs okD; esa mÙkj nhft,A

Answer in one Sentence.

tyL;kUrcZfg% dL; HkkxL; l×pkjks Hkosr~\

III. ;FkkfunsZ'ke~ mÙkjr ½ + ½ + 1+1 =2

funsZ'k ds vuqlkj mÙkj nhft,A

Answer as directed

(i) ^^vkdk'ks* bfr inL; d% foykse% v= iz;qDr%\

(ii) ^^HkosnL;** bR;fLeu~ ^vL;* bfr loZukeina dLeS iz;qDre~\

(iii) ^^Øe'k%** bfr inL; d% i;kZ;% v= iz;qDr%\

(iv) ^^r`rh;HkkxLl×pkjLRoUrfj{ks Hkosr~ Lor% ** bR;fLeu~ okD;s l×pkj% bfr dr̀ZinL; fda
fØ;kina iz;qDre~\

13-  I. funsZ'kkuqlkja iz'uku~ mÙkjr  1+1 = 2

funsZ'k ds vuqlkj iz'uksa ds mÙkj nhft,A

Do as Directed

^^,"k Hkxoku~ ekf.kjkdk'ke.MyL;] pØorhZ [kspjpØL;**A

¼v½ ,"kk i³~fDr% dLekr~ xzaFkkr~ ladfyrk\
¼vk½ vL; xzUFkL; ys[kd% d%\

II. v/kksnÙk% okD;ka'k% dsu da izfr mDr%\  1+1 = 2

fuEufyf[kr okD;ka'k fdlus fdls dgk gS\

Who has spoken the following ''Vakyansa'' and to whom?

 ^^v'kDrS% cfyu% 'k=ks% drZO;a iziyk;ue~**A

14- v/kksfyf[krL; 'yksd};L; iznÙkHkkokFk± e× tw"kkr% mfprinS%
iwjf;Rok fy[krA
fuEufyf[kr nks 'yksdksa dk HkkokFkZ fn;k x;k gSA e × tw"kk dh
lgk;rk ls mfpr inksa ls Hkj dj fyf[k,A
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The explanation of two shlokas has been given. Fill in the blanks
with the help of words given in the box. 2+2=4

I. lq[ka fg nq%[kkU;uqHkw;'kksHkrs

;FkkU/kdkjkfno nhin'kZue~

lq[kkÙkqq ;ks ;kfr n'kka nfjnzrka]

fLFkr% 'kjhjs.k e`r% l thofrA

;Fkk vU/kdkjkr~ fuxZE; nhiL; izdk'kL; n'kZua (i) --------------Hkofr] ,oeso nq[kkuka i'pkr~
lq[kL; vkxeua 'kksHkua Hkofr fdUrq (ii) ---------------------------- thous lglk otzikrfeo
(iii) -------------- vuqHko% rq lk{kkr~ (iv) -------------- vlguh;% ,oA

II. mfÙk"Br tkxzr] izkI; ojku~ fucks/kr
{kqjL; /kkjk fuf'krk nqjR;;k
nqx± iFkLrr~ do;ks onfUrA

gs tuk% ;w;a (i) -------------- R;DRok Kkua izkIrqa rRijk% HkorA (ii) -------------- lehis xRok
Kkua izkIrqa iz;Rua dq#rA ;Fkk (iii) ------------------- rh{.kk /kkjk in~H;ka vuqYy³~?kuh;k rFkSo
(iv) -------- KkuekxZe~ vrho dfBua onfUrA

e×tw"kk

egkiq#"kk.kke~] Nqfjdk;k%] vKkufunzke~] lq[kna]
,s'o;Z'kkfyfu] nkfjn~z;L;] egkiq#"kk% ej.kfeo

15- v/kksfyf[krL; 'yksd};L; iznÙkkUo;s fjDrLFkkuiwfr± d`Rok iqu% fy[krA 2+2=4

uhps nks 'yksdksa dk vUo; fn;k x;k gSA muesa fjDr LFkkuksa dh iwfrZ djds vUo;

iqu% fyf[k,A

The prose-order-renderings of the following two shlokas have been given below. Fill

in the blanks and rewrite the prose order.

(i) oztfUr rs ew<f/k;% ijkHkoa] ½ × 4=2

HkofUr ek;kfo"kq ;s u ekf;u%A

izfo'; fg ?ufUr 'kBkLrFkkfo/kk

ulao`ÙkkÄõkfUuf'krk bos"ko%AA
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vUo;%

rs ew<f/k;% ¼i½&&&&&&&&oztfUr] ;s ek;kfo"kq ¼ii½&&&&&& u HkofUrAfg 'kBk%

rFkkfo/kku~ ¼iii½&&&&&&&&&&& ¼tuku~½ fuf'krk ¼iv½&&&&&&&&bo ?ufUrA

(ii) vuUrjRuizHkoL; ;L;]

fgea u lkSHkkX;foyksfi tkre~]

,dks fg nks"kks xq.klfUuikrs]

fueTtrhUnks% fdj.ksf"ookÄ ï% AA

vUo;%

;L; ¼i½ &&&&&&&&& fgee~ ¼ii½&&&&&&&& u tkre~A fg ¼iii½ &&&&&&& ,d% nks"k%

bUnks% ¼iv½&&&&&&& vÄ ï% bo fueTtfrA

16- v/kksfyf[krkuka ^d* LrEHkL; okD;ka'kkuka ^^[k**LrEHkL; okD;ka'kS% lg mfpresyua
dq#rA
fuEufyf[kr ^d* LrEHk esa iznÙk okD;ka'kksa dk ^^[k** LrEHk esa fn, x, okD;ka'kksa ds
lkFk mfpr feyku dhft,A
Match the sentences of column ^d* with those of column ^^[k** 1×4=4

LrEHk ^^d** LrEHk ^^[k**

(i) ;su vkØeUR;`"k;% vkIrdkek% v½ rfgZ prqxZq.ksu lhlsu 'kks/k;srA

(ii) ;fn Lo.kZe~ v'kq)a Hkosr~A c½ u mRlodky%A

(iii) LVkdIysl laxzgky;s l½ ;= rr~ lR;L; ija fu/kkue~A

(iv) lks·;a O;k;kedkyks n½ lIrlIrfr% d{kk% lfUrA

17- v/kksfyf[krs"kq okD;s"kq js[kkfÄïrinkuka izlÄõkuqlkje~ mfprkFk± dks"Bdkr~
fpRok fy[krA

fuEufyf[kr okD;ksa esa js[kkfÄïr 'kCnksa ds izlÄõkuqlkj mfprkFkZ dks"Bdksa ls
pqu dj fyf[k,A

Write the meanings of the bold-typed words which are suitable to the context).
Select the words from the brackets.                                                                    1×4=4

(i) ,"k Hkxoku~ ejhfpekyh pØorhZ [kspje.MyL;A ¼u{k=e.MyL;] if{klewgL;] jk{klx.kL;½

(ii) bnkuha nqxZlaLdkj% drZO;%A ¼nqxZL; lqj{kkfndk;±] nqxZlaca/kh&mRlo%] nqxZL; 'kksHkkfHko`);s
izlk/kue~½

(iii) ,rkn`'kS% tuS% jktk r`.kor~ x.;rsA ¼'k"i[k.Mfeo] egÙoiw.kZ%] rqPN% bo½

(iv) vjf{kra fr"Bfr nSojf{kre~A ¼Lokfejf{kre~] HkkX;jf{kre~] nsorkjf{kre~½
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[k.M% ^?k* Section D

Hkkx% ¼II½ (Part II)

laLd`rlkfgR;ifjp;%

(General Introduction to Sanskrit Literature)

18- v/kksfyf[krkuka dohuka ns'kdkyd`rhuka ;FkkfunsZ'ka ukekfu fy[krA 10

fuEufyf[kr dfo;ksa ds ns'k] le; vkSj jpukvksa ds uke funsZ'kkuqlkj fyf[k,A
Write the names of the place, time and works of the following poets, as per instructions.

I- do;%

(i) vfEcdknÙkO;kl%

(ii) HkrZ̀gfj% ns'k% 1 × 3 =3

(iii) Hkkl%

II- do;%

(i) HkrZ̀gfj%

(ii) fo'kk[knÙk% dky% 1 × 3 =3

(iii) vfEcdknÙkO;kl%

III- do;%

(i) ojkgfefgj%

(ii) dkSfVY;% dk·fi ,dk jpuk 1 × 4 =4

(iii) fo".kq'kekZ

(iv) Hkkjfo%

vFkok (OR)

v- fuEufyf[krokD;s"kq dks"BdsH;% fpRok mfpr'kCnS% fjDrLFkkuiwfrZ% fØ;rke~A

fuEufyf[kr okD;ksa esa dks"Bdksa ls pqudj mfpr 'kCnksa ls fjDr LFkku iwfrZ dhft,A

Fill in the blanks  in the following sentences with the suitable words. (Select the
words from the brackets). (1 × 5 = 5)

(i) ukVdL; vkjEHks fo?ufouk'kk; nsokuka Lrqfr% &&&&&& HkofrA ¼vkRexre~] HkjrokD;a]
ukUnh½

}
}

}
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(ii) &&&&&& x|dkO;L; Hksn% vfLrA ¼:ida] vk[;kf;dk] Lrks=a½

(iii) d× pqdh jktHkouL; &&&&&& orZrsA ¼lUns'kokgd%] ò)lsod%] jktiqjksfgr%½

(iv) egkdkO;a &&&&&&&& Hksn% HkofrA ¼i|dkO;L;] x|dkO;L;] ukVdL;½

(v) x|i|e;a dkO;a &&&&&&&& mP;rsA ¼egkdkO;e~] ukVde~] pEiw ½

vk- laLd`regkdkO;L; i× p fo'ks"krk% laLd rsu fy[kr 5

laLd`regkdkO; dh fdUgha ik¡p fo'ks"krkvksa dks laLd`r esa fyf[k,A

Write five characteristics of Mahakavya in Sanskrit.
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vkn'kZ iz'ui=e~ la- 2
¼vÄï;kstuk½ Marking Scheme

dksM la[;k &022
¼laLd`rdsfUnzde~½

d{kk }kn'kh

vof/k%  gksjk=;e~ iw.kkZÄïk % 100
le; % rhu ?k.Vs iw.kkZÄï % 100
Time  : 3 Hours Maximum Marks : 100

[k.M ^^d** Section A

vifBrka'k&vocks/kue~

vfLeu~ [k.Ms  50  'kCnkuke~ ,d% ljy% vifBr% x|ka'k% vfLrA

iz'uk%

 ØekÄï%    mís';e~ iz'uizdkj% visf{kr&mÙkjkf.k vÄï& vÄ&
lÄïsr% foHkkx%

 1.  I. rF;cks/kijh{k.ke~  vfry?kwÙkj% (i)  /kuL; ½

,dinsu (ii) vkJeoklh ½ 2

(iii) elh ½

(iv) cfg% ½

    II. rF;cks/kijh{k.ke~  y?kwÙkj% (i) vLekda lehis
iw.kZokD;su vko';drkuqlkje~ 1 2

,o /kua] oL=kf.k p
vU;oLrwwfu Hkos;q%

(ii) vkJeokfluk egkReu%
ys[kuh f{kIrk ;r% rL;ka 1
elh u vklhr~

   III. Hkkf"kdrÙoiz;ksx& vfry?kwÙkj% (i) fo'ks";inp;ue~  & oLrq 1

ijh{k.ke~ ,dinsu (ii) dr̀Zinp;ue~    & Hkoku~ 1 4

(iii) foykseinp;ue~ & cfg% 1

(iv) i;kZ;p;ue~    & vfpjkr~ 1

10



38

  IV. 'kh"kZd iznkue~ vfry?kwÙkj% (i)   {kqnzoLrqu% egÙoe~

    vFkok {knqzoLrqegÙoe~

(ii)  egkRekxkfU/ku% ys[kuh 2

(iii)  vifjxzgL; egÙoe~ 10

[k.M% ^[k** Section B
¼laLd`rsu jpukdk;Ze~½

vfLeu~ [k.Ms =;% iz'uk% lfUrA izFkeiz'us fyf[krs i=s e× tw"kkr% fpRok fofHkUufjäLFkkukuka iwfrZ%

dj.kh;kA n'kfjDrLFkkukfu lfUrA izfr'kq)fjDrLFkkuiwfrZd`rs v/kZ % vÄï% fu/kkZfjr%A                  ½

 ØekÄï%    mís';e~ iz'uizdkj% visf{kr&mÙkjkf.k vÄï& vÄ&
lÄïsr% foHkkx%

  2 i=ys[kus ;Lekr~ uxjkr~ ½

vkSipkfjddk;Z& i=a izsf"kra

ijh{k.ke~ rL; uke

i= izs"kdL; ½

vfHk/kkue~
;L; d`rs i=a izsf"kra ½

rL; vfHk/kkue~
¼lEcks/kua½
i=ladsrs ;= i=a ½ 2

izs";rs rL; LFkkuL;
uke ½

i= ys[kus lanHkkZuqdwya ½

fo"k;oLrq fo"k;oLrqKkue~ ½

ijh{k.ke~ ¼fjäLFkkuiwfrZ½ ½ 3

½

½

5

3- vfLeu~ iz'us iznÙkk;ka dFkk;ka lUnHkkZuqdwyfjäLFkkuiwfrZ% visf{krkA v= n'k fjäLFkkukfu lfUrA

izfr'kq)fjLFkkuiwfrZd`rs  (½) v/kZ% vÄï% fu/kkZfjr%A

(i) dkuiqjr%

(ii) viwoZ

(iii) izfrfuf/kRoe~

(iv) vdjoe~

(iv) of/kZre~

(vi) fodklsu

(vii) vHkwriwo±

(viii) ,rkǹ'khlq

(ix) vkyksd%

(x) if'pecaxizns'k%
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dFkk;ka lUnHkkZuqdwya fjDrLFkku& (i)   jsy;kukr~ ½

iwfrZ%] 'kCniz;ksxijh{k.ke~ ~(ii)   brLrr% ½

(iii)  lk/kkj.koL=;qDr% ½

(iv)  oks<~ok ½

(v)  foJkeLFkykr~ ½

(vi)  vuqjks/k% ½

(vii)  LokoyEch ½

(viii)  xq:xaHkhjLoja ½

(xi)   ifjph; ½

(x)   n'kZukFkZe~ ½                  (5)

  4. defi ,da fo"k;e~ vf/kd̀R; i × pokD;s"kq ys[kue~ visf{kre~A izfrokD;e~ ,d% vÄï% fu/kkZfjr%A v/kZ% vÄï%
'kq)rF;d`rs v/kZ% p 'kq)Hkk"kkiz;ksxk;A

vocks/kiwoZde~ okD;fuekZ.ke~ i×p okD;kfu ½ + ½ 1

okD;lajpuk& ½ + ½ 1

ijh{k.ke~ ½ + ½ 1

½ + ½ 1

½ + ½ 1

[k.M% x* Section C
vuqiz;qDrO;kdj.ke~

¼vfLeu~ [k.Ms Hkk"kk;k% O;kogkfjdiz;ksx% visf{kr%½

iz'uk%

ØekaÄï% mís';e~ iz'uizdkj% visf{kr&mÙkjkf.k  vÄï&   vÄï&
 lÄïsrk%   foHkkx%

   5 okD;s"kq ikBk/kfjr&vuqiz;ksxkRed% (i) bfr$vfHk/kkusu 1

lfU/kfoPNsn% dks"BdkUrxZrkuka (ii) dfLeu~ $ fpr~ 1

inkuka lfUNPNsn% (iii) ,rr~ $ nsoL; 1

cks/kijd% (iv) ,"k%$,o 1

vfry?kwÙkj% (v) f}rh;Hkkx%$ l× pkj% 1

(vi) fueTtfr$bUnks% 1     6

5
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  6 okD;s"kq leLr& okD;s"kq LFkwyk{kj& (i) fu#)k ps"Vk ;L; rL;¼ee½ 1

inkuka foxzg& inkuka foxzg% (ii) iz;kstuL; vHkko% 1

n{krkijh{k.ke~ (iii) nSosu gre~ 1

(iv) czãk.Me~ ,o Hkk.Me~ rL; 1

(v) vg'p jkf='p 1

(vi) =;k.kka eRL;kuka lekgkj% 1    6

  7 okD;s"kq d`nUr& izd`frizR;;kS (i) izfrf"k)% 1

inkuka iz;ksx& ;kstf;Rok okD;& (ii) mäoUr% 1

ijh{k.ke~ lanHkkZuqlkja (iii) nz"Vqe~ 1

fjDrLFkkuiwfrZ% (iv) jfre~ 1

(v) vpZ;u~ 1

(vi) Hkxor% 1

(vii) ekf;u% 1

(viii) fi'kqurk 1 8

  8 dr`Z&fØ;kin& okD;s"kq fjä& (i) czohrq 1

vfUofr& dks"Bdkr~ leqfpra (ii) ;q"ekfHk% 1

ijh{k.ke~ ina fofpR; (iii) vkxfe";fUr 1

iwfÙkZZ% (iv) vkgwrk% 1

(v) ijh{;rs 1 5

 8¼oSdfYid½ fo'ks"k.kin& e× tw"kkr% (i) vfrje.kh;a 1

p;uijh{k.ke~ fo'ks"k.k&inp;ua (ii) cgqeRL;a 1

fjDrLFkku iwfrZ% (iii) egku~ 1

(iv) lqc)ewyk% 1

(v) izeq[kfpfdRldL; 1      5

    9 miinfoHkfä& dks"Bdkr~ 'kCns"kq (i)  cq)a 1

iz;ksxijh{k.ke~ miinfoHkfä& (ii)  ;n~Hkfo";s.k 1

iz;ksxs.k (iii) iz;kstue~ 1

fjDrLFkkuiwfrZ% (iv) ekuosH;%@ekuok; 1

(v)  e`R;quk 1     5

Total     30

ØekÄï% mís';e~ iz'uizdkj% visf{kr&mÙkjkf.k   vÄï&   vÄï&
 lÄïsrk%    foHkkx%
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[k.M% ?k
ifBrka'k&vocks/kue~

¼vfLeu~ [k.Ms losZ iz'uk% ikB~;iqLrde~ vk/kkfjrk%½
¼_frdk & f}rh;% Hkkx%½

  iz'uk%

 ØekÄï% mís';e~ iz'uizdkj% visf{kr&mÙkjkf.k  vÄï&   vÄï&
 lÄïsrk%  foHkkx%

 10 ifBrx|ka'k& 1- vfry?kwÙkj%  (i)   365-25 okja  ½ 1

cks/kijh{k.ke~ ,dinsu mÙkje~  (ii)  lÄõ.kdL; ½

2- y?kwÙkj%  (i)   Hkwe/;js[kkfLFkrL;
iw.kZokD;su     ujL; d`rs u{k=kn;%
mÙkje~     if'pea izfr /kkoUr% izrh;UrsA 1 1

Hkkf"kdrÙo& 3- vfry?kwÙkj%
ijh{k.ke~

(i) fo'ks";inp;ue~ (i)  ^^i`Foh** bfr ina fo'ks";e~ ½

(ii) foykse~p;ue~ (ii)  vk/kqfudS% ½

(iii) drZ̀inp;ue~  (iii)  tUe 1

(iv) i;kZ;inL;  (iv) u{k=kn;% 1 3

5

   11 ifBrukV~;ka'kL; 1- vfry?kwÙkj%  (i)   pk.kD;su ½

cks/kijh{k.ke~ ¼,d insu½  (ii)  usiF;s ½ 1

2- y?kwÙkj%  (i)   fu#)ps"Vk&dkj.kkr~

iw.kZokD;su mÙkje~     pk.kD;L; ers

       oSrkfydkH;ka 'krlgL=& 1

    lqo.kZnkue~ vLFkkus 1

    iztk/kukiO;;% vfLr
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Hkkf"kdrÙo& 3- vfry?kwÙkj%

iz;ksxijh{k.ke~

(i) loZukeLFkkus~ (i)  jkK% d̀rs@jkKs ½

laKkiz;ksx%

(ii) foyksep;ue~ (ii)  viO;;% ½

(iii) drZ̀inp;ue~ (iii)  jktk 1

(iv) i;kZ;inL;p;ue~ (iv)  mYya?kue~ 1 3

        5

 12 ifBri|ka'k& 1- vfry?kwÙkj% (i)   i`fFkohrys ½

cks/kijh{k.ke~ ,dinsu mÙkje~ (ii)   f=iqjL; ¼foekuL;½ ½    1

2- y?kwÙkj%      tyL;kUrcZfg% f}rh;&

iw.kZokD;su      HkkxL; l×pkjks

mÙkje~      Hkosr~ 1  1

Hkkf"kdrÙo& 3- vfry?kwÙkj%

iz;ksxijh{k.ke~ ,d insu

(i) foyksep;ue~ (i)  i`fFkohrys ½

(ii) loZuke LFkkus (ii)  f=iqjL; d̀rs@f=iqjk; ½

laKk p;ue~

(iii) i;kZ;p;ue~ (iii)  ;FkkØee~ 1

(iv) fØ;kinp;ue~ (iv)  Hkosr~ 1  3

  5

 13 mn~/k`r&va'kL; vfry?kwÙkj% (i)  ¼v½ f'kojktfot;kr~ 1 2

izlÄõlUnHkZ&    ¼vk½ Jh vfEcdknÙkO;kl% 1

xzUFkys[kd& (ii) vukxrfo/kkrk 1 2
ijh{k.ke~     vU;eRL;ku~ 1

  4

 ØekaÄï% mís';e~ iz'uizdkj%      visf{kr&mÙkjkf.k  vÄï&   vÄï&
lÄïsrk%  foHkkx%
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  14. HkkokFkZcks/k& fjäLFkkuiwfrZ& 1. (i) lq[kna     ½

ijh{k.ke~ ek/;esu (ii) ,s'o;Z'kkfyfu     ½

 (iii) nkfjn~z;L;     ½     2

(iv) ej.kfeo     ½

2- (i) vKkufunzke~     ½

(ii) egkiq#"kk.kke~     ½

(iii) Nqfjdk;k%     ½

(iv) egkiq#"kk%     ½ 2     4

  15. i|L; vUo;cks/k& iznÙks"kq vUo;s"kq 1. (i) ijkHkoa     ½

ijh{k.ke~ 'yksda ifBRok (ii) ekf;u%     ½

fjäLFkkuiwfrZ%  (iii) vlaòÙkkÄõku~     ½

 (iv) b"ko%     ½     2

2- (i) vuUrjRuizHkoL;     ½

(ii) lkSHkkX;foyksfi     ½

(iii) xq.klfUuikrs     ½

 (iv) fdj.ks"kq     ½    2     4

  16. okD;ka'kkuka lkFkZdesyua 1. (i) ;= rr~ lR;L;     1

lkFkZdla;kstue~ ¼la;kstue~½ ija fu/kkue~

(ii) rfgZ prqxqZ.ksu lhlsu     1

'kks/k;sr

 (iii) lIrlIrfr% d{kk% lfUr     1

 (iv) u mRlodky%     1           4

   17. izlÄõkuqlkja iznÙkfodYisH;% (i) u{k=e.MyL;     1

'kCnkFkZcks/k& 'kq)&vFkZ p;ue~ (ii) nqxZL; lqj{kkfndk;Ze~     1

ijh{k.ke~ (iii) rqPN bo     1

 (iv) HkkX;jf{kre~     1      4

 ØekaÄï% mís';e~ iz'uizdkj% visf{kr&mÙkjkf.k  vÄï&   vÄï&
 lÄïsrk%  foHkkx%
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 ØekaÄï%    mís';e~    iz'uizdkj%       visf{kr&mÙkjkf.k  vÄï&   vÄï&
 lÄïsrk%  foHkkx%

18- laLd`rlkfgR;L; v½ dfo%

lkekU;Kkue~ (i) vfEcdknÙkO;kl% (i)  t;iqje~      1

¼vfry?kwÙkj%½ (ii) HkrZ̀gfj% (ii)  mTtf;uh      1

¼dsoya ukeksYys[k% (iii) Hkkl% (iii)  in~eukHkiqje~      1      3

visf{kr%½

        ¼vk½ (i) HkrZ̀gfj% (i)  "k"Bh'krkCnh      1

(ii) fo'kk[knÙk% (ii)  5&6 'krkCnh      1

(iii) vfEcdknÙk O;kl% (iii) ,dksufoa'kfr%'krkCnh      1     3

¼b½ (i) ojkgfHkfgj% (i) c̀gRlafgrk      1

(ii) dkSfVY;% (ii)  vFkZ'kkL=e~      1

(iii) fo".kq'kekZ (iii)  iaprU=e~      1

(iv) Hkkjfo% (iv)  fdjkrktqZuh;e~      1      4

10

   v laLd`rlkfgR;L; vfry?kwÙkj%    v½ (i) ukUnhs      1

lkekU;Kkue~ ¼fjDrLFkkuiwfr%½ (ii)  vk[;kf;dk      1

(iii)  lans'kokgd%      1

(iv)  i|dkO;L;      1

(v)  pEiw      1

5

   vk laLd`regkdkO;& laLd`rsu (i)  U;wurek% v"VlxkZ% 1

y{k.kcks/k& i×pokD;s"kq (ii)  /khjksnkÙk% uk;d% 1

ijh{k.ke~ oSf'k"V~;ys[kue~ (iii)  lxZc)% dFkkud% 1

(iv)  /kekZFkZdkeeks{ks"kq ,da Qye~ 1

(v)  dks·fi ,d% izeq[k% jl% 1 5

10

vFkok

[k.M% ?k] Hkkx II

laLd`rlkfgR;ifjp;%
10



[k.M
uke

[k.M% d
vifBrka'k&
vocks/kue~

laLÑr vkn'kZ iz'ui=e~

dsfUnzde~ (Core)

d{kk & }kn'kh XII

iz'ui=L; :ijs[kk
dksM la- % 322 iw.kkZÄïk % 100

iz'u
la[;k

iz'u&mís';e~ iz'u izdkj% vÄïlÄïsr%

1 v

c

l

n

rF;cks/k&ijh{k.ke~

]]

Hkkf"kdrÙocks/k&
ijh{k.ke~

'kh"kZd iznkue~

½  × 4 = 2

1  ×  2 = 2

1  ×  4 = 4

2 = 2

10

iw.kkZÄïk %

vfry?kwÙkj%

y?kwÙkj%

vfry?kwÙkj%
]]

[k.M% ^[k*
jpukRed% a
dk;Ze~

i=ys[kus
vukSipkfjddk;Z&
fo"k;oLrqcks/kjh{k.ke~

vocks/kiwoZde~
okD;lajpukiz;ksx&
ijh{k.ke~

vocks/kiwoZde~
okD;fuekZ.ke~

½  × 10

½  × 10

½  × 10

5

5

5

15

fjDrjFkkuiwfrZ
¼vfry?kwÙkj%½

fjDrjFkkuiwfrZ
¼vfry?kwÙkj%½

¼y?kwÙkj%½

2

3

4

[k.M% ^x*
vuqiz;Dr&
O;kdj.ke~

okD;s"kq lfU/kPNsn&
ijh{k.ke~

okD;s"kq leLrinkuka
foxzg%

1  × 6

1  × 6

6

6

vuqiz;ksxkRed%
¼vfry?kwÙkj%½

LFkwyk{kj&
inkuka foxzg%
¼vfry?kwÙkj%½

5

6



7

8

vFkok

9

okD;s"kq
d`nUr&rf)r&
izR;;kuka
iz;ksx&ijh{k.ke~

dr`Z&fØ;kin&
vfUofr ijh{k.ke~
fo'ks"k.k inp;u&
ijh{k.ke~

miinfoHkfDriz;ksx&
ijh{k.ke~

izd`fr&izR;;&
;ksxsu fjDr&
LFkkuiwfrẐ
¼vfry?kwÙkj%½

'kq) fØ;kin&
p;usu fjDr&
LFkkuiwfrZ%
eatw"kkr%
fo'ks"k.kinp;ua
d̀Rok fjDrLFkku&
iwfrZ%
¼vfry?kwÙkj%½

dks"Bdkr~&
'kCns"kq miin&
foHkfDr iz;ksxs.k
fjDrLFkkuiwfrZ%
¼y?kwÙkj%½

1  × 8

1  × 5

vFkok
1  × 5

8

5

[k.M% ^x*
vuqiz;Dr&
O;kdj.ke~

[k.M
uke

iz'u
la[;k

iz'u&mís';e~ iz'u izdkj% vaÄïlÄïsr% iw.kkZÄïk %

1  × 5 5

30

10

11

12

13

ifBrx|ka'kcks/k  &
ijh{k.ke~

ifBrukV~;ka'kcks/k~
ijh{k.ke~

ifBri|ka'kcks/k~
ijh{k.ke~

izlax&lUnHkZ&xzUFk&
ys[kd ijh{k.ke~

vfry?kwÙkj% y?kwÙkj%
p

vfry?kwÙkj% y?kwÙkj%
p

vfry?kwÙkj% y?kwÙkj%
p

1- lUnHkZxzUFkL;
ys[kdL; p

2- d% dFk;fr da
dFk;fr

½  × 2  = 1
1  × 1  =  1
1  × 3  = 3

½  × 2  = 1
1  × 1  =  1
1  × 3  = 3

½  × 2  = 1
1  × 1  =  1
1  × 3  = 3

1 + 1 = 2

1 + 1 = 2

5

5

5

4

[k.M% ^?k*
Hkkx % 1
ifBrka'k&
vocks/kue~
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10

100

14

15

16

17

18

HkkokFkZcks/k ijh{k.ke~

vUo; ijh{k.ke~

lkFkZd okD;&la;kstu
ijh{k.ke~

izlaxkuqlkje~
vFkZp;ue~

laLd`rlkfgR;lkekU;
cks/kijh{k.ke~

vFkok
laLd`rukV~;oSf'k"V~;
cks/kijh{k.ke~

[k.M% ^?k*
Hkkx % 2
laLd̀r&lkfgR;
lkekU;
ifjp;%

vfry?kwÙkj%
fjDrLFkkuiwfrZ%

vfry?kwÙkj%
fjDrLFkkuiwfrZ%
ek/;esu
vfry?kwÙkj%
okD;kuka Øekuqlkja
la;kstue~]

vfry?kwÙkj%
'kq)'kCnkFkZ p;ue~

vfry?kwÙkj%
¼ns'k&dkO;&d`fr
dohuke~½

vFkok
vfry?kwÙkj%

½  × 8

2 + 2

1  × 4

1  × 4

3 + 3 + 4

5 + 5

4

4

4

4

10

[k.M
uke

iz'u
la[;k

iz'u&mís';e~ iz'u izdkj% vaÄïlÄïsr% iw.kkZÄïk %


